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1-only .............. are stored in the mental lexicon

a) Complex words
b) Phrases
c) Simple words

¢ Jaal Gugald (3 O30 Il e Sl Jlgud

Jaiall ugeld (3 0555 31 B LI O 31 Brmlomall (§ Ly e

d) Words , affixes and constituents Ly sy dwlusl
2- The AP " Very happy " in the sentence " | see that you are a Very happy" is:
a) Modifier . - A
Aozl (§ Lga3 LaVery ha S e Jluo L
b) Adverbial & lexdse 2l @ Very happy 4e8 oe Jle
c) Complement orl) JoSo Lgadga 9 dlorl) Ao g3l Iz gl

d) Specifiesr

3-The word "memorization" has: "memori
Za
a) one morphemes

b) two morphemes tion”

c) three morphemes

d) four morphemes

4-How many allomorphs dose the plural morpheme ( _s ) h* (280 pgsaill

a) one Jged 12 7 Coanasld a3 pgaatl] O Loy
b) two o3yl e I g Sl &1 gl 3 b o595
c) Three ezl 3l U841 o) allomorphs
d) four

5- A tree diagram gives a (n)............ representation of a sentence or a phrase.

(a) Unsystematic

Eb)) Ir.andom @ S Jorll g Chleall e Min Jany (2l pan))!

c) linear

d) hierarchical

6-NATO is an example of: W polmall azly ¢ OhlaisYl e Jlis 50 " NATO "
(a) backformation

(b) neologism
(c) clipping
d) acronym
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8-English is a(n) --------- language
a) SOV o Jadll 92 dlazedl i3 Of dplsd) %ﬁ‘édﬁﬁd‘()ﬁ
SVO & Jgriall o3 Ja2ll
b) SVO
¢) VSO VSO & Jgriall o Jelall o Yol Jadll do,yall dal Lo
d) OVS

9-when a morpheme change the grammatical category of the meaning of their:

a) Positional @Gl piog gl d3a)l as ¢ Derivational
b) Derivational Gaall_pio Vs Dogaidl dsall paoY : Inflectional
c) Inflectional ¥ 5 plee 2l

d) functional

10-identify the FINTTE verb in the sentence " john believes mar* .....teaching "

2) Teachin Ll e 3ya3 Jladl § FINITE verb Jb (zol LY 0 ool i
. g 2o B35 O o U Jelalls sutall 51 95lall 51 5Ll a3l 3T
b) Believes BN of olsea!
c) Toenjo . ) .
) enjoy Uozd) S5 e il yak believes 4o eyl 3kl Jelall
d) enjoy . .
I 1da 3 Bl

11-function \ grammatical words include:

a) pronouns, determiners, conjunctions and auxiliaries

b) adjectives ,nouns, verbs, adverbs, and preposition
c) nouns and adjectives only
12-the native speaker's unconscious knowledge of the own language is called:

a) syntax

b) performance

c) linguistics

d) competence
13- When a morphological rule applies to be frequently use to form new word in language
it is said to be:

LS Y dslll § 5,500 St G5 P (zplgdgell delyd (p VB

o>

a) intuitive
b) creative

c) productive
d) non_ selective
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14. The suffixes in the word 'distinctiveness' is:

a) _tinct.

b) _tinct-ive

c) _tinct-ive-ness
d) -ive-ness

15. The main concern of generative grammar...

the basis of

a) word grammar

b) minimalist grammar
c) functional grammar
d) universal grammar

16. A morpheme is the smallest unit of a

a) Morphology
b) Phonology

c) Pragmatics
d) Stricture

@ all 9 gt

el 1280 to acquire ANY language on

Jalall ol deallall Al gl Uaay dunalidl 8pislonall ol 3
toleall (0 de gazme (wlul (e (Sylad dlaaiul e Wgy
Aokl aelgall £ 5 duakall

17-in the sentence "he has taken a shower" the word 'has'is .........

a) A morphological word
b) A lexical word
c) A function word

d) A class word

18- Which of the following illustrates 'compounding'?

a) UN
b) Prep_school

c) Wallpaper
d) Distance education
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19-which base forms are there in the word "democratization 'is
(a) cratize

(b) democratize

C)democrat

(d) moralize

20-which of the following is illustrated by the word 'brunch?

a) clipping
b) compounding
C)blend 00 lge oi lid dalSIS o] e Jluw Lid g

A lgdle JU VLY OY dnsl] $noleall dlioY) geoz 22y

d) back formation

21-Inflection process turning 'ring' into 'rang' is called:
a) umlaut
b) complete Suppletion

Clablaut

22- inflectional morphology is
a)suffixing

b)prefixing

C)infixing

D) Prefixing and suffixing

23\which of the following statements is correct?
A)V is the semantic head of a clause

B) | is the tic head of a clause
C) V+l is the semantic head of clause
D) Cis the semantic head of clause

24. In SOV languages, like English, heads...........
A) Precede their complements
B) follow their complements

(c) sometimes precede complements
(d) sometimes follow their complements
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(a) suffix structure of a word

B)prefix structure of a word

C)the prefix and of suffix structure of a word
D)morpheme structure of a word

27. Which of the component words in a component words...... .category? (28l ypgsaill
(a) The rightmost or the leftmost word category

(b) The leftmost word 4Syedl &SI &l Sdme I b Jl O Jglows s J1geadl
(c) The rightmost and the leftmost CE 131 b o) Ao o) ol AN 155 03l 3ukong (S Lo s
d)The rightmost word 028! AUl oo ;3 ol 9o Waddon AN Ol & &S50 4K

S ol s aly........ ¢ Jadd el

28-In English, inflection is ..............
a) more productive than derivation

(b) less productive than derivation
(c) as productive as derivation
(d) noun-based only

29\ The derivation of a yes \ no question is in English ..........

a) ltoC b Clezdl 0980 duwd yall dall (SY Jlgudl Luitd OE 13
b) V_to_lto C
c) Neither
d) L_to
30\ i refers to the speaker actual use of language

Performance
32\ the word " insistently ' is made up of the following morphemes:

a) Insistent_ly
b) insist_ently
c) Insis—tent-_ly

d) In_sistent_ly
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33\ which of the following generalizations is correct?

a) A derivational affixes attaches after an inflectional one A s dasaall GlaYI

b) A derivational affixes attaches to a base before an inflectional one

c) A derivational affixes attaches before and after an inflectional one

d) A derivational affixes mover occurs with an inflectional one

38-UNESCO illustrates:
A) an blend

B) an example of clipping
C) an acrosome

D) an example of backformation

39-when combined a root and an affix, it form:
A) an expanded base

B) an expanded root

C) a_ complex word

D) a simple word

40-derivational morpheme in "seekers" is
A) seek

B) -s

C) -ers

D) —er

41-choose the set of words that illustrate inflection:
A) play, plays, played, playing

B) wise, wisdorn, unwise, unwisely

C) foot , feet

D) king , kingdom , kingdoms

42. A compound is a word that contains .......
(a) one prefix and one word

(b) one suffix and one word

C) two root morphemes and one word

d) two simple words or more
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44. Which of the following is NP......the computer was very expensive?
(a) the computer

(b) was very expensive
(c) very expensive
(d) the computer was

45\ the phrase "the newly appointed president"” the head is:

a) President
b) appointed president
c) newly

FORRIDEDRRIND B8 e 22 D B R ID EDRR LD LR

%M‘jw‘o}'u BV
aozl) (38530L9

@AGannat2060 ol

@ all 9 gt



https://twitter.com/AGannat2060

